

Konjugat Gradienten (Fletcher) Methode (1)

$$f \approx \frac{1}{2} \langle Ax, x \rangle - \langle b, x \rangle = f_x(x) \quad \nabla f \approx Ax - b \quad \nabla^2 f \approx A$$

$$x_0 \in \mathbb{R}^N \quad \text{PETA} \quad S_0 := \langle x_0 \rangle \quad e_1 := -\nabla f_x(x_0) \quad \text{f. ...}$$

$$S_{h+1} := -x_0 + \mathbb{R}e_1 \quad x_1 := \arg \min_{x \in S_1 - e_1} f_x$$

$$e_{h+1} := -\nabla f_x(x_h)$$

$$S_{h+1} := S_h + \mathbb{R}e_{h+1}$$

$$x_{h+1} := \arg \min_{x \in S_{h+1} - e_h} f_x$$

$$v_{h+1} := x_{h+1} - x_h$$

$$\nabla f_x(x_h) = e_{h+1} \perp [S_h, \text{dunkelblau}] = \text{span}\{e_1, \dots, e_h\}$$

$$\Rightarrow \langle e_1, \dots, e_N \rangle \quad \text{TON} \text{ m} \subset \mathbb{R}^N$$

$$\begin{aligned} e_{h+1} &= -\nabla f_x(x_{h+1}) \perp e_1, \dots, e_{h+1} \\ &= -Ax_{h+1} + b \end{aligned}$$

$$\begin{aligned} e_{h+1} &= -\nabla f_x(x_h) \perp e_1, \dots, e_h \\ &= -Ax_h + b \end{aligned}$$

$$\begin{aligned} e_{h+1} - e_{h+2} &= A(x_{h+2} - x_{h+1}) \perp e_1, \dots, e_h \\ &= Av_{h+1} \end{aligned}$$

$$\text{span}\{e_1, \dots, e_h\} = \text{span}\{v_1, \dots, v_h\} \quad Av_{h+1} \perp v_1, \dots, v_h$$

$$\langle x | \delta \rangle_A := \langle A x | \delta \rangle$$

$$v_{n+1} \perp^A v_1, \dots, v_n \quad v_1, \dots, v_n \in \mathbb{R}^N \text{ for } n \leq N$$

$$v_{n+1} = \alpha_{n+1} e_{n+1} + \sum_{k=1}^n \alpha_k^{(n+1)} v_k$$

$$\begin{aligned} [v_{n+1} \in \mathcal{S}_{n+1} - x_0 = \\ = \text{Span} \{e_{n+1}, v_1, \dots, v_n\} = \\ = \text{Span} \{e_{n+1}, v_1, \dots, v_n\}] \end{aligned}$$

$$\langle A v_{n+1}, v_k \rangle = 0 \quad k=1, \dots, n$$

$$\alpha_{n+1} \langle A e_{n+1}, v_k \rangle + \alpha_k^{(n+1)} \langle A v_k, v_k \rangle = 0 \quad k \leq n$$

$$\Downarrow \quad \frac{\alpha_k^{(n+1)}}{\alpha_{n+1}} = - \frac{\langle A e_{n+1}, v_k \rangle}{\langle A v_k, v_k \rangle} \quad [e_{n+1}, v_1, \dots, v_n \text{ is a basis}]$$

$$\alpha_{n+1} \text{ is a scalar}$$

$$t \mapsto f_x(x_n + t v_{n+1}) \quad \text{minimize } t=1$$

$$0 = \frac{d}{dt} \big|_{t=0} f_x(x_n + t v_{n+1}) \Leftrightarrow \nabla f_x(x_n + v_{n+1}) \perp v_1, \dots, v_n, e_{n+1}$$

$$0 = \langle \nabla f_x(x_n + v_{n+1}), e_{n+1} \rangle = \langle A(x_n + v_{n+1}) - b, e_{n+1} \rangle =$$

$$= \langle A x_n - b, e_{n+1} \rangle + \langle A v_{n+1}, e_{n+1} \rangle =$$

$$\nabla f_x(x_n) = -e_{n+1} \quad \alpha A e_{n+1} + \sum_{k=1}^n \alpha_k^{(n+1)} v_k \quad \perp e_{n+1}$$

$$= -\langle e_{n+1}, e_{n+1} \rangle + \alpha_{n+1} \langle A e_{n+1}, e_{n+1} \rangle \rightsquigarrow \alpha_{n+1}$$